
Answe 
)a ABC NA DEF A 7DE EF= l6 em 
(2) 12xiKT= T. 8,2 T= 2¢m, So dram eer = em 

: 2AB =DE) 

G) AC= 10cm. BP B , a= ZR= 6-7, AP= AR=3-* 
(3 

So, # 6-X+8-* = /0 =) = 2¢m. 
4) 2Ar =20t 30 2 30 = T= 
4 

(S A 
Syo 20 {2.2+39. 4= 20x lG0 = 3200 

(at19d)- (at13d) = 32 4d - 32 d=8 

D = I > 2b 4y = 2 b= 2 

(8 
0T 2/3 m AT 

VIB25= 12 cm. 

( 25/a5 

(10 
nean = = ( ) So ti) = 10 2 

(12) 8+5169, 0151622) - (-2,1) 

CI4) Sin 9= (OA0 0=4S, So, 2-4en0t as3- 2 = 2t-2 

AD y3 40 

(13) 
Ts'h= Ta6 b= lS cm 

an 36= 

(15) p p apl pr«)-3- 

-p=l dtp)-4ap =1 ks)-4h =/ 25-4k =/ 4k=2 

9 2x3 
(16 4o4=2'7 /01 , 

HCF = 2 4. 
2 

12X 136. 0.136. 3 r 

2ys (10) 



(19 Ca), C) xS 
(b cir) anodad class (b) Cr) IS0m 

(t8Ca) cee) SoV3m 

(C) C) 0.099 (c) ce) /00V3m 

(d) tie ) 1d0m (d) Cre) 0.08- 0.12 

(e) ttc) 8 (e) t ) decoeas/og. 
(19(a) Cte V3 (20) Ca) Cr) 12em 

(b) Cr 2 Cb) cru) none of thee 
c 

(d) cro) none theie 
(e) Cru) 100 y. 

(d) cru)none t h ese 
(e) tee) chovd. 

(21) Reqd drstanre lcmC40,42, Y5) cm 2 2520cm. 
(22) 2.(5-8() -k =0 h=2 

Equabon secdure b 22 8 t=0 
4- 6x t1S =0 4-101-x tS-0(2x-5)(2x-3) o 

So, OhT other dvot r' 2 

(23) 2 

(24) PT PS LT lS = 60. So, PTS (s an equlakr 4. So TS=Yc 

( l-bnte no o ne Ihz Vength au TS C9 be doacwn. 

Poo &LO�C= OCA 30 
LoCD 90- 30 60 Congle in semi cark) 

LDCD= 96- 60 = 30 (oqdiu L tangent) 
Now, 1n ACD, LD: 180- (30 t/26)~30 

Cleas , LBCD=LBDC. 
So, BC= BD CPoeues) 

A 

(25) LEFS COA 30 CO 3,30 = 90 0 

RtS cor'0-3(oO- 4.co36-3u30- Y-3.4 

So, co 30- 4corO-3 (O coNed 

(26) 
Oot'gnal no l0, 3n t = 3/n. 

T& S/h-13 s51 3. 

So,vequTed no a 93. Cha 



C23) n(2-3) tb(7-p)te Cp-1) 
= ap(a-a)1 ag (3-p) + as (p-1) 
at (p-dfcq-1) +at (g-1ndj0t-p) tfat (a-pdjp-2) 
= a}1-3*t 7-ptp-1{4 d(p-1)cq-7) t q-17-p 1-1) (p-2 
Otdl pM-pt-A1+-2 rfPI3 

O CPo ed 

(28) Ac & CE 4xe the tao pos (hvan o¥ the 
A lad der. 

So, AC=CE = 1Sm. 
AD= 12m, DE = 29 

Clearly, BC = VLs-11 9m. 

Sm 19 9 12m 

CD= VS92=/2m. 
Width stoeet = 9t12= 2m 

1 4 ABC, AD eA a media). 

det'n do qu AE IBC. 

LHS AB'1 AC = AE't BE+ AE+CE ( AE L B() 

C 

2AE+ BE'tCEZ 

=2 AD-DE) +(BD- DE) + ¬D +DE) 

2AD- 20E +BD+pe- 7BD-BEt ¢Dte2 
t2ERD 

2 AD + 2BD C' BD = CcD) 

2 CAD'+ 80). Cved) 

(29) Area design = Aea df 2 qad donts- Aveq df squoe 
2 

2xT.8 
(3-I) 8* = .6Y - 26 cn2 

(36) Poo 
(31) PR= P4 Yatb-ata-b-y)? = V(b-a-1) atb-42 

12ab 2bt-241 

2by -2an = 2a7 - 2by 
by 44* by 4 CPpaed) 



(32) 0tan A V3 A= 60. 
Dut B 96 C= 30, 

Wew, S1n A co«¬t (OA Sin C S/n 60' (A30 t (04 60 SiNSO 

(33) Fr the hemispker- 3.Srm. 
fr the cone 3. 3. S rm 

12cm, 
IS 

h= 12cm 
= 12.S cm, 

Ts4=Tsl t 2Ts2 Ts (l+ 2a) 

=23.Ss ( 12-S 1 2 3.s) 214,5 em* = 

V=Th+ T T* (h+2r)- (1249) 
243.83 cm 

(31) b *2 -- atbt 

7 (atbt) 1 

(ta ) (7tb) =0 7a -a, -bb. 

(3s) Con s{), 

(36) dt p= a, pa. 

s dp' 7c. 

e ac), a te 3eqd poly. CA 
act abrtc 

So,he ded poly 
Cztbr tC CA 

p+ =(tp)- 2dptdp 
= (dtp)-xp 
2S-k 

S 2 ke 2 
974, 252 


